

Scanned by CamScanner

```
QUESTION 1B
15] \lim_{x \to 7/2} \ln \left[ \exp \left( 3x^2 + 2x - 1 \right) \right]
     = \lim_{x \to \frac{\pi}{2}} \ln \left( \exp \left( \frac{3x-1}{x+1} \right) \right)
   = \lim_{n \to \infty} \ln \left( \exp(3x-1) \right)
 x = \frac{7}{3}
= Lip (3x-1) = 3(\frac{\pi}{2}) -1
   =\frac{3\pi-1}{2}=\frac{3\pi-1}{2}
 : Lim In \left[\exp(3x^2+2x-1)\right] = 3\pi-2

x \to \frac{\pi}{2} x \to \frac{\pi}{2}
         QUESTION IC
1() (in cos (sin-1(x-2))
272453 (71-53)
     = Lim (05 [sin-1 (2+J3-2)]
      >172+J3 (2+J3-J3
       = (05(sin-1(0.8660))
            =) (05 60°
```

```
QUESTION 10
W) lin [x2-8x+16]
=) lim (6c-4)(x-4)
   x \to 4 (x-4)(x-1)
        QUESTION 2A
e (1n = 2
 (n+1)(n+2)
    (n+2)(n+3)
 \Gamma atio! Untl = 2 \times (n+1)(n+2)
            (M2)(M3)
 Lim! Unt 1 = Lim 17+1
n-700 · Un
    12 + 3/
Since Lim Un+1
   n-700 Un
   .. The series is inconcusive
```

```
QUESTION 2B
· Using the Comparison test
recall;
      \begin{bmatrix} 1 & +1 & +1 & +1 & + & - & \cdots & 1 \\ 1 & 2 & 3 & 4 & & & D^{\Gamma} \end{bmatrix} =
  = \begin{cases} 2 + 2 + 2 + 2 + 2 + 2 - 2 \\ 1^2 2^2 3^2 4^2 \end{cases} = \begin{cases} 2 \\ 2 \\ 1^2 \end{cases}
            P=2
  Since P 71, the Series converge
                                  QUESTION 3
     (2n+1)^3, (2n+2)^3
    \lim_{n \to \infty} \frac{(2n+1)^3}{(2n+2)^3}
      \frac{\chi(2n+1)^3}{(2n+2)^3} = \frac{8n^3 + 12n^2 + n + 1}{8n^3 + 24n^2 + 24n + 8}
          divide by n3
=) (8+ 3/1 + 1/2+ 1/3)
                  (8+ 1/2 + 24/2 + 8/3)
            as n -> 00
             >( 4 )
```

Question 4

Lim 
$$\begin{cases} \sin x - \cos x \\ x^3 \end{cases}$$

by using L'Hopital's rule

 $y = \begin{cases} \sin x - \cos x \\ x^3 \end{cases}$ 
 $dy = \begin{cases} \cos x + \sin x \\ 3x^2 \end{cases}$ 
 $dx = \begin{cases} \cos x + \cos x \\ 6x \end{cases}$ 
 $dx^2 = \begin{cases} \cos x - \sin x \\ 6x \end{cases}$ 
 $dx^3 = \begin{cases} \cos x - \sin x \\ 6x \end{cases}$ 
 $dx^3 = \begin{cases} \cos x - \cos x \\ 6x \end{cases}$ 
 $dx^3 = \begin{cases} \cos x - \cos x \\ 6x \end{cases}$ 
 $dx^3 = \begin{cases} \cos x - \cos x \\ 6x \end{cases}$ 
 $dx^3 = \begin{cases} \cos x - \cos x \\ 6x \end{cases}$ 
 $dx^3 = \begin{cases} \cos x - \cos x \\ 6x \end{cases}$ 
 $dx^3 = \begin{cases} \cos x - \cos x \\ 6x \end{cases}$